RAEOBERIFI=H

B Ak HE@RA) HYA4X B FiAE E4 R [53-3 7 bi=F:3 BT o1
ES=F #it31.2cm x #%22.8cm B &3
170M cmA A 1kg AR O (@)
(#itrE23cm x 11.5cmLL L)
EE2FEI /TR
HHE R 380FI+45K 70 |#¢24.80m x 34cm EREL O x
e =AY
EEE ] 380M+554£70M  |#it250cm x 4#20cm x E&5cm | LBAL @) X
ERE 609X fEEE D& %60cm L TINEER
i =] a . E%Fﬁ's 77
700M e 2kg LA APl (@) X
z N R R vALTY, EERE
HTHBEE(VY BoTAx 800 BRSO AL | HvA—PUDO |O x
~E#) 2
10044 X I =1 .
1000 ﬁgﬁméoeﬁmommu 10k LU o <
1204 X N s .
1100/ %pgt*ﬁméwen+7b\1zocmu 15ke AP o <
14094 X T s R
1300/ %pgt?ﬁ.aéa)ﬁuﬁ\mcmu 20ke L o X
16094X e At TR, 7
16009 ﬁg*ﬁméo)@ﬁmemmu 25kg LA sy—z—t w9 |O y
vALTo,
18044 X — EIPR N
20009 ﬁﬂﬁﬁéd)%nﬁwsmmu 30ke L
< YIMEER
2004 4 X N . -
24009 ﬁ{g*ﬁﬁéo)eﬁb\zommu 30ke LA
5/ bR 330 & EH60cm LA
(E3034cmEE3emLLA . it . #
175 4 230m x 11.5emEL L) 2kg AN EMEARXE O @]
HERENMERAV—ILOBANLE
b5/ vk 33L& ET60cm IR L 34
175M cmES3emLLA., #EHE23cm [1kg AR @] O
x11.5emPlb)
Ww5/899 HtE= DA EHH60cmLL
604X 7004 A o x
80H /X HEEED A EH80emEL
800M W itk @) X
BTHBEE(ER =
HE 100X oom SR ED A FAT00mL 5 )
M
= BER .O0—vy
120X o RAESOBTAIZMEL gparigyn o «
oI | - HEEEE DA FHAY 400mL o «
2
16041 X N =1 .
1600 %[E*ﬁméd)‘%#b\mmmu o 3}
.. S0 A F A1 70mEL o .

™




